2

FAST WATER DRAIN




N & e

FASTENERS

)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) i =
M6 x 60 (16 PCS)

)))))))))))))))))))))))))))))))))))))))))))))))))))) E

M6 x 50 (4 PCS)




ASSEMBLY INSTRUCTIONS

/

%ﬁ M6 x 50 (4 PCS)

F

=
=
‘~,
N —

M6 x 60 (4 PCS)




3x16 (6 PCS)

b

{

\

\

M6 x 60 ( 6 PCS)

AN




M6 x 60 ( 6 PCS)

3.5x 35 (8 PCS)




3.5 x 25 (4 PCS)




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6



